EﬂJ_LJ_LJ_LJ_LJ_LJ_LJ_LJ_LJ_LJ_LJ_LJ_LJ_U_LJ_LJ_LJ_LJ_LJ_LJ_LJ_LJ_LJ_Lﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂ%
1|Fresher Recruit

=
=
=
=
=
=
=
=
=
=
=
=
=
=
=
=
=
=
=
=
=
=
=
=
=
=
=
=
=
=
=
=
=
=
=
=

WBPSC Food Sl Practice Set 06

WBPSC Food Sl Practice Set, $Y Jid 33(VPd VIAFIA [AAAN SFIA (TSI NS
AIBBA G151 98 (A BN AN NEDN SZ |

NG vifsNA HAfae R SN (WBPSC) T (2(2d Food SI (5 NG RorE(® wepi
IR 1 B13 VIAEIfEd Swres Team Fresher Recruit i 1B (UBA RSN S Fresher
Recruit -3 43 SIS SFANSB AfGAIG ‘WBPSC Food Sl Practice Set’ SVAIS S 255

Fresher Recruit SHiENEs WBPSC Food Sl Practice Set —9 Q3124 (& [QBHHAR NS HIA
G 9N [E S0

1. AR AGALLIA (B AGHIG! SBABN ?

[A] 2o (Rr2res =2
[B] SIAISHA 213 AR 12
(] StoRE A2

[D] fs(ars =2

T1AS [B] AAMBER 21N AR =12

2. “BIBFA AT ARACIBN” NS B (B9

[A] &AA3 FAIA

[B] 1 Syl

[€] TomfE sk

(iv) GO aAfiEans

I1As [B] A FHAfa

5


https://fresherrecruit.in/
https://fresherrecruit.in/
https://fresherrecruit.in/
https://fresherrecruit.in/

[l

8

2|Fresher Recruit

TIP3 VMBS F N 3B N&(36® 7yasBR @B 8o

3. (B VA (! ARASHA NI 255 RS Ao B Seed g SRS 2
[A] AR el

[B] Pt

(€] E6iY A

[D] Ro A3

333 [D] RN ANTANS

4. ASTIRNG JASHA SRAACIT 923 (BIAR (FA(G S A 9

[A] (M~
= =
% [B] NV %
= [c]am 5
= =
= [D] 213 =
= 5
= 5
= =
= I328 [D] 21+ 5
= 5
= 5
= 5
% 5. VIPSIATF A tiEA (A1 TV AT Gy DS fSHIRGIA 2 %
= 5
= 5
= 5
% [A] 900 TEHAIRBI %

% [B] woo fAIfRBIA %
% [€] 800 fFIBIA %
% %

[D] voo faAIfRBIA

%WWWW



[l

=
=

=
=

3|Fresher Recruit

T3S [A] 900 fBHIRBIA

WBPSC Food Sl Practice Set 41

6. PPRAEA WEErTR AN FGHR (B S S v 9

[A] 2

[B] ol

[c] atg=

[D] 215

JVAS [A] BB

7. B @RS JAGE I3 &g’ @ =B 2

[A] &

[B] =B

[c] =N

[D] (~ir2t

Twas [¢] G

8. WIAMSINSEBENH AT (B3N 23

[A] SIARREIN 93 (121

8

%WWWW



[l

8

4|Fresher Recruit
[B] &% qag (w121
[€] v qa. (M2

[D] B qae =21

T [B] &% 9AR (A2

WBPSC Food Sl Practice Set 41

9. TlA(wd AT AN 1259

[A] I ASILSS

[B] 9a5{B (3@ (2rBIA AN

[c] 9B Gifaeds Anees

[D] M B ABF NG 3 HYHISBTIA HASBIA ASILSH

=
= 5
= 5
% T3S [A] WA AL %
= 5
= 5
% 10. IYSBY 2NAA VANV 15 9 5
= 5
= 5
% [A] TrEEEte TBfG g 5

=
% [B] (5B BB~ %
% [c] B 2R %
= 5
= [p] ypeE @mis 2o B 5

% T3 [B] (FHB BH(HIA

g o= [B] <G %
: 5
%WWWW



